B 2

EERm 77 - T7v T4 BE NEFEE
Eaka4t]
1 URADER
# H TREEA (M) I
A% 4 10,000
BINEF - ASEHA 0
Bt - A - Se% 0
AT A4 (RiAZ) 70,000
= DA A B 4 0
YN 80,000
2 XZHDER
# H THEAA (M) g &
Ak R 3,000
i i Lo 156500(< 1 7. 227 1) — Az K. Wi-Fil > 5 L
A2 0
(ER(EE ¢ 0
2 g 18,000[3.000 X kE76%
o [FB A 20,000(F 7 > Epf| % 15000/ A & #}Ep f] % 5,000 1
% iz g 8.400| % P9 %1 3% #4184 F X 100%
W [mram 5100 F A AR, 2HEME. TAR
N 20D 70,000
MESEZE 10,000]~ v kR kL 8RF
%
xf
£
y
M E
= N0 10,000
XEE (O+©) 80,000
MUILAGEH = AR L 725 L9 ITIER L TL 72 &0,
M RARAIL RFEE -k - AGEHA] & [NEO] Ziig L, /hSnHo

BRAE P LIAARHEE LT TZE 0,



